)/
Test 2b Name /21
Calculator Part: You may use your calculator on this part of the test. Be sufe to show all
necessary work for full credit.

. y=98x+21.2 )
_ 1. Given , solve the system using a table. Be sure to show your table.
3 y=1.0=3Tx

X

v

2. The graph shows the amount of water, /¥, remaining (in gallons) in a southern Florida

household 7 days after a hurricane. 70 N
\\
, A. Find the slope of the line and interpret its TN
4 meaning in the context of the problem. 50
Uae [2 Qaldilns TN
n= ") & { S 40
m g &= f AN
30 kS
N\

~ B. Find the horizontal intercept and interpret its 20

L meaning in the context of the problem. X

. 10 N

t=S.b/ ) \\\

{ Y VP
‘.-/‘v

1y IO

Find an equation that expresses the amount of water remaining in terms of days after the
hurricane. ' A

w -20= 2l -*"/)

W o

_ -2t + &

3. Dr. Rhodes wants to buy Chick-fil-A sandwiches at $3.25 each and 12 piece nuggets at $4.69
each. q

A. Find an inequality that relates the number of sandwiches,
S, and the number of nuggets, N, that Dr. Rhodes can buy 2°
if she wants to spend less than $80. -
. A , - 2 7
2,25 S+ 467 M <50 s
w
: . ¢ HHL
B. Graph this equation. Be sure to label the scale on the axes. N
W, jo
. TS
AL N,



4. Dr. Phelps sells cotton candy at her cousin’s swim meet for $4.50 per bag. She also sells
peanuts at the meet for $3.50 per bag. One day she sold 160 bags and collected 645 dollars.
How many of each item did she sell?

A. Setup a system of equations.

1

O

5. The scatterplot shows the rate per hour based on the number of years of experience a worker
has on the job.

1 80 l " [] [ = = = ] = " = 1] [
A) Use a straight-edge to draw a - x e -
L line of best fit. ISOfF » = = & = 2 x4 o« . s
D n [ ] = [ 4 |4 L] L ] L3 [ ] . """" ;’u n L] -
B) Use your graph to find the rate ;’ | I: . E L
7, per hour at two different years . [ 0 T q et
of experience. 3 a ofF - B - T,
- | .‘ A/r' . ‘ . ’F\,,J,y.« o [ ] ﬂ/:é ] L L : L] L] » n |
;lr/ "!‘ ‘({W\(}} {f ‘ M ¢ ‘;}1? ) 3 r 60 - ‘mi H ] = " - = - » = . =
QQ‘%G ; £ ~ s Iﬂ a [ » [ [ B = = L] [ ] ] =
’ 30 o = [ " ® n » = [ . = " L]
4 8 12 16 20 24
C) Find the slope of your line and interpret Hours
2, its meaning in the context of the problem.
50 =
s T N
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7 Test 2b —Spring 2017 Name {/
No Calculator Part: You may not use your calculator on this part of the telst. S w all necessary
work for full credit.

1. Estimate the slope of each of the line segrﬁents shown.

2 &, undofused ;
i3 = |
(B LJs
A
!

-~

1= 4x+ 3

7, 2. Write the equation of a line with slope of 4 and the point (0, 3).

Q_k

f

4

% 3. Write the equation of a horizontal line through the point (9, 4).

Q<

H ' 4. Write the equation of a line with the two points (3 0) and ( 8, 2).
=l £
/i 5 2 >2 G -
Y = = (X3
d -

L ¢
Y=

v 2 (x+P)
e Tl

H 5. Write the equation of a line perpendicular toy == oX+ 5 through the point (2, 4).
m = ‘2/2

3
6. A. Sketch a line with m = g and the point (-1, -2).

2 B. Write an equation of the line.

._\

@_:ﬂ [ v 2t 7, 7 <
/(Ujl +ad= T X "/l : I ' i




7. Approximate the solution to the system of equations using the

graph given. Show on the graph how you found the solution. & 7

The scale on the x-axis is 1 units and the scale on the y-axis is 4 /'

units. TV

/ /
. Solution: :
) -3 Ay F: % g
[ Is the system consistent or inconsistent? s on<s $H0+7 Vi )4
. o

[ Is the system dependent or independent? 24 L foeh il v // /’/

8. Mary and Richard fill their 600-gallon heating fuel oil tank. They use an average of 24
gallons of heating fuel oil per week.
. A. What is the slope in this problem? What does it represent in the context of the problem?
/i , ) /

O LU o L AL i -
\

- /

LIAEX

M=o Uae. 7T GALLNE &
) 2

» B. Write an equation that expresses the amount of oil, 4, in the tank in terms of the number
5 of weeks, w, since they filled the tank.

A=coo-a4w

1 9. Given the table as shown, find the slope (include the units). % //1‘5 0
l/‘ Pounds, P Cost in ¥ =1 i
dollars, C ““:;""
2 9.38 ~ 57
345 21.95 el 419
10 42.90 2Y 12 iy

1) 10. Write the inequality that matches the graph shown.

|
)/
7/ 4
” IS Y
TERAD, -’7/
Vi [
J/
J

J




11. Graph the system of inequalities.

lo

1
\\
I
N
. y=2x+5 . M o
12. Given the system - b how many solutions does the system have? on
—ZXT Y= ) 4
A =X+ sl P : ey, :]f»"'j

. j : o7 : 0
Is the system consistent or inconsistent? (/’ (o Dependent or independent? £~ O

13. Solve by elimination. Show your work.
2u—-3v=19 1oy —2
L’i 3(-1“,‘_5\/:—0‘ 0/21 V= .j

— -

5% = JO V= -3
u= oL (‘;2) _'"D

{/u+v=—3) 3

: L y=2x-3
14. Solve the system using substitution.

J—f 6x—2y=4 -
o / L - /‘a-..)ﬁ ﬁ 2
@X—Q(&X“B,)"# J
(ﬂX"LfX ‘F’:O:Lf /,-“ _ 5"“)
BX = 1A ()
x= "}
x—2y+3z=9
éS. Solve the system. {x +y—z=-5
2x—3y+z=56

o
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J

2
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Test 2 N /Kw,ﬂ;

Calculator Part: You may use your calculator on this part of the test. Be suze to show all
necessary work for full credit.

. y=58x-9.8 )
1. Given , solve the system using a table. Be sure to show your table.

y=0.7-4.7x

7} A% / \/ [ \[ N

- P 7 1 ; 2 ¥ ' .
O [-9.¢ | 7 ~ ") U
I I T W
2| Ly &7

|
|

2. The graph shows the amount of water, ¥, remaining (in gallons) in a southern Florida

household ¢ days after a hurricane. N
\\
A. Find the slope of the line and interpret its ST
4 meaning in the context of the problem
% ,:*) _ zj“ \ 0 ( ‘_y ;:;‘». % A~ \
- = Al e 40
=S IGLI per cLa P \\\
U N
N
B. Find the horizontal intercept and interpret its 20 \i\
Vi meaning in the context of the problem. ‘ X
f c N
-Z{ |2~ S &7 = \\

O“JC'C/ O g :y:;'.<.~'¢ S ‘“C € 1S N LO0TEr,
C. Find an equation that expresses the amount of water remaining in terms of days after the
-7 hurricane. . o

W-20= “;72»{/‘4‘%)\

3. Bob wants to buy Chick-fil-A sandwiches at $3.05 each and 12 piece nuggets at $5.95 each.

A. Find an inequality that relates the number of sandwiches,
S, and the number of nuggets, N, that Bob can buy if he
wants to spend less than $80.

3,05 S+ 59§ N <50 5

4

B. Graph this equation. Be sure to label the scale on the axes.

3 S

W
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—

-
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4. Joel sells cotton candy at the Magic games for $4 per bag. He also sells peanuts at the games
for $2.50 per bag. One day he sold 160 bags and collected 460 dollars. How many of each
item did he sell?

A. Set up a system of equations.
Y — 1 =Y ,C
L 4 ':Z 4’ ; A ” \i)\)

= O

B. Solve the system using any method discussed in class. Be sure to show your work.

> 4 (160 - P) 32.$P =960 /?Ofl
LYo —4P+2,SP= Y0 Yo CC
1P = - 50
IS -)S 4
. Thup:
= 120 [/

5. The scatterplot shows the rate per hour based on the number of years of experience a worker
has on the job.

d A) Use a straight-edge to draw alineof jJf - - - - « &« « « .+ . - I:/
beSt ﬁt Ol Ll = = " = L ] = " = P ///I
) = L ] ] [ ] [ ] L] " L] = //.///un L] L}
B) Use your graph to find the rateper ¥ ff = = = * =» "g-~-— *= = * =
% hour at two different years of A | I:I H/E/  BL Ry L L
experence oft - B
(w/ _7 / \1 ;’uyiﬂ (] ] = [] [ ] [ ] [ ] [ ]
N \ 3 L = [ ] u L] ] [ ] [ " =
( 8 g ) L = L] u | ] | ] L L] L | - L B " |
I = = [ ] [ ] [ ] [ ] = [ ] [ ] ] [ ] u "
R S B S o T
C) Find the slope of your line and interpret its meaning in the context of the problem
| '
~/ _'/. . " ;2 WD ONS f@)e /"\{) D UL f J oA nour"
m=- - AV ) d ? © ‘ '



Test 2 —Spring 2017 Name /@b{

No Calculator Part: You may not use your calculator on this part of the test. Show all necessary
work for full credit.

1. Estimate the slope of each of the line segments shown.

4 A -—3/4
7} B. %&«;&A/ ’\\\
AN

z) 2. Write the equation of a line with slope of 7 and the point (0, -5). /}J 7)( S

-, 3. Write the equation of a vertical line through the point (9,4). X = 9

.} 4. Write the equation of a line with the two points (4, 0) and (8, - 2).

¥ 4 O - 2 — -1 /. ;f,\}
Ty - /2//4-01 = 2 (A4,
J: = "% (X ‘(7(>

5 Write the equation of a line perpendicular toy == X + 1 through the point (2, 7).

M == g == -2 (x w)
né-“o)m—?i

6. A. Sketch a line with m = - ; and the point (-1, 2). >

B. Write an equation of the hne >

E 73 2= %3 ) |




7. Approximate the solution to the system of equations using the

<l

graph given. Show on the graph how you found the solution. =
The scale on the x-axis is 1 units and the scale on the y-axis is 4 16 N
units.
- { 2] Y ) r3
< Solution: '\,'7/ y/'e )
v 4 =2 r &

| Is the system consistent or inconsistent? '/)f)’;';/l Ot

N

| Is the system dependent or independent? /) L024 /!

8. Mary and Richard fill their 400-gallon heating fuel oil tank. They use an average of 21
- gallons of heating fuel oil per week.
M A. What is the slope in this problem? What does it represent in the context of the problem?

/ o~ s

M=/ , TRy LS Al QaltORe [
‘ 0

% B. Write an equation that expresses the amount of oil, 4, in the tank in terms of the number
of weeks, w, since they filled the tank.

285 _ §__
9. Given the table as shown, find the slope (include the units). 3lbs = 4/
Pounds, P Cost in L
dollars, C _ cQ___L\
o 7.50 225 3 ).
2 4[5 1575~ |67 b
10 29.50 - =

., 10. Write the inequality that matches the graph shown.

n | ’ N
Y >/ D’Z/\/’C\/

/ 1

UV




y2-x+3 NCNORR

(,0 11. Graph the system of inequalities. {x 9,4 TIRR \\\A\ ‘:
\l\\\ \\ \\\\'\ ;\\%\ o v
——
ANH |
AT
yd :
' ' y=2x+5 !
12. Given the system 1 - B i how many solutions does the system have?

U :0)><+§
Is the system consistent or inconsistent? [

13. Solve by elimination. Show your work. {§5-1: ;’:_82) &
U
~Jow-2v=-"G =}
W A== 5@)*V=e
MC}'U« 1:-"){( +)Q+v’/
: z =
w= t2 Y

(2, *0)“)
14. Solve the system using substitution. { Greoy =14

1 v (e yeayS
2% +10=Y4 (-3 >‘))>
o

CL) X — 2y sz==2
15. Solve the systerﬁfi{ 2x+y+z=9
s A x—y+z=1

\0

x=1

L
2~






